
For 2 to 4 players, 13 years and older

Idea of the game
Two to four players (best with two) work cooperatively to try to
prevent Mary, the single mother of 6-year-old Julep, from having
an emotional breakdown or damaging her relationship with her
daughter. There are 21 rounds in the game, one for each of three
time periods over the course of seven days. EVENT cards are



2. Turn over an EVENT card for the time and day.
Turn over the top EVENT card for the time period and read it
aloud.

card from your hand.” She puts the card face up on the “Played
RESPONSE” space and takes the top RESPONSE card from the
face-down deck. She gives Jerry a card he can use later.
Unfortunately, Paula now has only three cards in her hand to play
when it’s her turn. Jerry is in a great position, though, with five
cards in his hand.

3. Play a RESPONSE card from your hand if you can.
Now you can play a RESPONSE card (that is not a RESPONSE
Opportunity) from your hand in order to offset the negative
reaction(s) on the EVENT card that was turned over at Step 2.
You may choose not to play a card if you wish. The icons on the
RESPONSE card you play must match the color and shape of
the icons on the EVENT card. In some cases more than one color
is on the RESPONSE card. Only the numbers in the color
matching the EVENT card will be used in scoring the round.
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